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Section! (5 marks)
Attempt questions 1 to 5.
Allow approximately 7 minutes for this section.

Use the multiple choice answer sheet provided in your answer
books.

Select the alternative A, B, C or D that best answers the question,.

Fill in the response oval compiletely.

Question 1
NOT TO
SCALE
5cm
0
6cm
Find the value of sin@ if the area of this triangle is 10 cm?,
1 2 3
2 = C - © 3
@ 3 ® 3 © 3
_}
Question 2
ABC is an equilateral triangle.
D E :
B H CDEF is a square. _
BCG, ACF, and GFH are straight lines.
LOCGF =45°,
The size of LEFH is
A C F
(A 15°
NOT TO
SCALE 45° (B) 22_%_0 -
G ©
(D) 45°




Question 3

‘Risthe point with coordinates (6, 0).

f;(é,o‘) N %

The area of the shaded rectangle in square units is

(A 20 B 24

© 28 ) 60

Question 4

NOT TO
SCALE

ABCD is a rhombus.
DC=EC.

ZADC =68° and LACE =90°.

The value of x 18
(A) 22
(B) 68
©C 73
™ 79

p—

Question 5

0 and P are centres of equal
circles which intersect at
(3,4) and (3,-4). The
circles cut the x axis as
shown at R and S.

RS =7



Section II - Attempt questions 6 — 13.
All answers and working to be done in your answer book.

Question 6 _ (8marks)

a} Simplify giving the answer to 2 significant figures

4.7 + /3.2
1 4+ 4,152

b} Solve -3 <1-2x <5

2
c) i (2++V3) =a++b Findthe value ofaand b

d) Solve x* = (x+ D(x+5)

Question 7 (8 marks) (Start a new page)

a) Factorise fully
i.  8mn? + 6m?n + 10mn
ii. 5x%—33x+18

iil. 125 —27x%

b} Ifsinf = %and tan@ < 0 find the exact value of cos 8



c) 3
(23)
& > %
Consider the graph of y = f (x)
i.  Stateits domain
fi. Stateitsrange
iii.  Write down the equation (s) of any asymptotes
Question 8 (9 marks) (Start a new page)
A
a) c. 3
E.
Q
wlo
D
o
2
B F

in the diagram above AB|} CD || EF ,2BDC = 146° and AEFB = 112° Show, giving reasons,

that BD bisects £ABF.



1 1 : .
b) Write—— — —— as a single fraction 2
x+1 x-1

¢} Solve forx

. 5 _ _ 1
i g(x+4)—4x 2 2

Ll

Question 3 (8 marks} (Start a new page)

N4

clam

8(12,1k)

NOT TO SCALE
A(loﬁ)

. _ > ot
O

In the diagram above A, B and C are the points {10,5), (12,16) and (2,11) respectively

~; Copy the diagram into your answer sheets

a) Find the distance AC 1
b) Find the midpoint of AC 1
¢} Showthe OB 1 AC ' 2
d) Find the midpoint of OB and explain why OABC is a rhombus 2

e} Hence find the area of OABC 2



Question 10 (8 marks) (Start a new page)

In the diagram above AB || DE and DE = EC, Let £ ECD = x°

i.  Copy the diagram above onto your answer sheets

ii. . Prove AB=BC (reasons required)

b) L Sketch y =|x — 1| and y = |x] on the same axes
(Label each graph carefully)

ii. Hence solve [x — 1| = |x|

c) Solve [x+3] =2x—1



Question 11 (8 marks) (Starta new page)

a) Find the acute angle 8, correct to the nearest minute,
giventhat tan8 =1 -; 2

cos (90 - @)

b) Simplify cos (180- ) 2
c) Solve 2Zsinf —1=10for 0 <8 < 360° 2
d) Simplify sec?8 — tan*@ 2
Question 12 (8 marks) ( Start a new page)
a) Prove the identity -3

1

: — = 25ec?f
1+5ind 1-—sing

b) Solve the following trigonometric equations in the domain 0° < 8 < 360°

i.  3cos?0 +5cos =10 3

ii. +3sin@— cos@ =0 2



Question 13 (8marks) (Start a new page)

a) Find the exact area of the triangle below. 1

(ac,m

Scen

b} In the diagram below, a helicopter H is hovering above a straight, horizontal road AB of length
600 metres. The angles of elevation of H from A and B are 7° and 13° respectively. The point C
lies on the road directly below H.

33
© A4
L 1 3
A C 5
P
h (nOoT M >
i. Use the sine rule to show that HB= 222517 1
sin 160°

ii. Hence, find the height CH of the helicopter above the road, correct to the nearest metre.
1



i
c) Aship sails 24 km west of port P and then 17 km on a bearing of $42°17 W to port Q.

R

i. Copy the diagram above onto your answer sheets and show the information on it

ii. Calculate the distance of Q from P to one decimal place.

fii. Calculate the TRUE bearing of the ship from P { to the nearest degree) 3
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